=
<

= =
8 z
S =
= 3
=3
2 g
=
S
1072
107
o +uof ! .9105%_....!....!... b
T r b S r
@ [ i [vd C
1 11T ¥ 14—
0.95L ; ; : ; 0.95L ; ; ; : ;
=3 -2 -1 0 1 2 3 =3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
—=— 2/CMSSW_12_3_X_2022-02-25-2300/src/DQM_V0001_R000000001__Global__mkFitOLD__RECO
—— CMSSW_12_3 X_2022-02-25-2300/src/DQM_V0001_R000000001__Global__mkFitNEW__RECO

= = 1=
5 S
::? o
S o
5 5
107t
107%H
o;.w-:- 1 P LA A T A
: g
: @ [
it 4 1t
09531 0 1 2 3 R 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

=

0P /P,

,_.
<
L

2 -1 0 1 2 3
TP n (PCA to beamline)

|
W[



	Contents
	Page 1


